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INORGANIC CHEMISTRY

Time : Three hours] [Maximum Marks : 33

Ae— g @uE & [T FaY AT ) g9 & SiF G qifet ST Sifkd 2

Note: Answer from both the section as directed. The figures in the right-hand margin indicate
marks.

g®Ig—1/ Unit-1
1. (a)4fTaFRMS MU (n+ ) FT AT RTE? 1
What is the value of (#n + 1) for 4 f Electron?

(b) feoquit ferfay— 6

Write short notes on :

(1) BrgoaT 1 SAHfYaar #r i
Heisenberg’s uncertainty Principle
(2) ¢ Uy e
Significance of y and y°
(3) Er-aFdl FHEHT
De-Broglie Equation
311dT/OR
(a) T TITHDT AT FAT &2 Zn TTATY & 3d a1k & [T THTET AITHehI SATEST 3T 9T Bty |

3
What is effective nuclear charge ? Calculate effective nuclear charges of 3d orbital of Zn atom.

(b) feoquit ferfay— 4

Write short notes on :

(1) faga FomHsar (Electronegativity)

(2) TG TR YT (Successive electron affinity)
F#E-11/ Unit-TI

2. (a) feuoil fafgu— 4

Write short notes on :

(1) faga GJTE{Uf (Dipole Moment)
(2) 3ga@® (Semiconductor)

[P.T.O.]
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(b) IH-TaR Th T & ? IS Aled qHeMey |
What is Born-Haber’s cycle? Explain with suitable example.
31=1d1/OR

(a) feoquit fafRgw— (Write short notes on :)
(1) fa@mae®s ot (Solvation Energy)
(2) &9 &1 9 (Fajan’s rule)
(b) g RAEIT o ATEAT BT |
Describe the Band theory.
gate-111/ Unit-—II1

(a) NO &7 3TVaeh Heh TR Bl (I 20 T FEERA S BT |
Draw the Molecular Orbital Diagram of NO and also determine the bond order.
(b) fewuit ffR@u— (Write short notes on)
(1) TASTHAT BIST ek T Ticiehuor Hgia
Valence shell electron pair repulsion theory (VSEPR)
(2) 3mEeT ot (Bond Energy)

3127d1/OR
() 3T9] FeTeh FIGIA T & IaTeT Aied qHeEy |
What is molecular orbital theory ? Explain with suitable example.
(b) N1 ga1ET (Give reason) :
(1) CH,,NH,, H,O 4 sp® HeRa &I T |7 SA1aer o7 4= 2 & |
CH,,NH,,H,Oall are sp® Hybridized but still they have different bond angles.
(2) O, 9] FTT=HE Bl & | i ?
O, molecule is a paramagnetic. Why?
FRE-IV/ Unit-1V

(a) BT garsu— (Give reason)
(1) BaSO, SI@ # TSN &, STafh MgSO, Ja=sii & |
BaSO, is insoluble in water while MgSO, is soluble.
(2) LiCl ot ® atfecig 2, afe wrafaew foamast § faog 21
LiCl is insoluble in water but soluble in organic solvents.
(b) s-siieh q@l & AT Tl H Al BT U BT |
Describe the functions of s-block elements in biosystems.
3MAdT/OR

(a) fewoll faf@u—(Write short notes on)
(1) atfsra 9w gura (Inert pair effect)
(2) eF (Fullerenes)
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(b) STEERA U] &l FLEAT FHHATET | 2
Describe the structure of Diborane Molelcule.
THE-V/ Unit-V
(a) ST SIS &l TG i TR | 2
Explain the structure of Xenon tetroxide.
(b) fewuit ffR@u— (Write short notes on) 4

(1) =t gaish (Interfering radical)
(2) &I Fifiiw (Clathrate compound)

3Ad1/OR
(a) THATAS THIG T & ? TOTHE [ALTsoT H SHeh SATIANT FHAEY | 2
What is Common Ion effect? Explain its application in quantitative analysis.
(b) fewquit fTR@u— (Write short notes on) 4

(1) XeOF, &I |Ta=T
Structure of XeOF,

(2) Teriaar o
Solubility product.
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